OIL AND LUBE PRODUCTS

C-6 Pneumatic Oil Filter Crusher for light truck diesel and SUV filters.

Reduces filters by 75% of
original size, and removes
95% of the free-flowing oil
so it can be recycled.

Large crushing chamber:
accepts filters up to
10” tall x 7” diameter.

Only one moving part,
a 2” shaft.

Safety door - crusher
will not operate if door
is opened.

Cycle time: 27 seconds.

Air requirement:
125 to 175 PSI.

Air regulator not needed.

Model 007590

Oiler and lubricator not
needed.

All parts in contact with
air are rust proof.

Optional stand (sold
separately).

Overall size on stand: 75”
high, 36” wide, 26” deep.

Lifetime warranty on
housing, one year limited
on all other parts.

12” Flexible drain hose
included.

Overall weight on stand 170
Ibs. (Shipping weight 182
Ibs. Trucked on pallet.)

New Crushers

MODEL NO. DESCRIPTION SHIPPING WEIGHT LBS (KG)
008207 C-6 Pneumatic SUV Qil Filter Crusher 221 (100.2)
007590 Smaller Crusher Stand for C-4 and C-6 Oil Filter

Crushers 101 (45.9)
007610 C-6 Pneumatic SUV Qil Filter Crusher (008207)

with Crusher Stand (007590) 281 (127.5)

& WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

Model 008207

o
N

SYIHSNYD HALTIA TIO

Rev 4 6/22



3 (@

OIL AND LUBE PRODUCTS

C-6 Pneumatic Oil Filter Crusher for light truck diesel and SUV filters.

n
m - - -
& Dimensions and System Options
n
E Repair Parts A
(&) MODEL NO. DESCRIPTION
m 007589 C-4, C6 90 degree Elbow
55| 007599 C-4, C6 TT12 Ball Valve
| 007628 C-6 Cup Plate
ﬂ 007632 C-6 Push Plate
<9 007629 C-6 Door
d 007858 C-6 Return Spring
(o) 007633 C-6 Shaft
007634 C-6 Top Bearing
007642 C-4, C-6 TT-12 MJV-3 Air Clippard Valve
007708 C-4, C-6 3/8" Push-on Connector
007719 C-4, C-6, TT-12 Muffler
007749 C-4, C-6, TT-12 51205 Safety Valve 322"/
007847 C-4, C-6 Handle 819 mm
007861 C-6 Neoprene Cup
007862 C-6 10" Large O-Ring
007901 C-4, C-6 Reducer Bushing
007902 C-4, C-6, TT-12 1-1/4" 12 Jam Nut
007903 C4, C-6, TT-12 1-1/8" Washer
007904 C-4, C-6, TT-12, TT-25 3/8" Ball Bearing Switch
007905 C-4, C-6, TT-12, TT-25 Safety Switch Spring
007906 C-4, C-6, TT-12, TT-25 1/4" x 2-1/4" Clevis Pin
007907 C-4, C-6, TT-12, TT-25 3/8" ID x 1/2" OD Bearing
007908 C-4, C-6, TT-12, TT-25 1/4" x 1-1/2" Clevis Pin
007909 C-4, C-6, TT-12, TT-25 3/32" x 1/2" Cotter Pin
007917 C-4, C-6, TT-12. TT-25 3/8" x 2-1/4" Grade 8 Tap Bolt v
007918 C-4, C-6. TT-12, TT-25 3/8" x 16 Stover Nut
007938 C-4, C-6, TT-12, TT-25 5/16" Flat Washer
007940 C-4, C-6, TT-12 1/4" Air Hose Assembly 135"
343 mm
® 2325 Husky Way e Pacific, MO 63069
> (800) 325-3558 * Fax (636) 825-7300
A BREED APART www.husky.com ¢ sales@husky.com
MADE INTHE U.S.A. E

Rev 4 6/22



